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Robert Hooke used the foll
at the cells for the first time :
(A) Light microscope

(B) Dark field microscope -

(C) Transmission electron microscope
(D) Scanning electron microscope

This is not useful for purification of
proteins

(A) Paper chromatography

(B) Ion exchange chromatography

(C) Gel filtration

(D) Affinity chromatography

This compound is used in density
gradient centrifugation

(A) Cholesterol  (B) Sucrose

(C) Glycine (D) DNA

How many layers are there in the cell
envelopes of gram negative bacteria ?
@y 2B 3 . )4 M) 6

Allergy involves mostly
(A) IgA (B) IgG (C) IgD (D) IgE

Porins are

(A) Polysaccharides
(B) Proteins

(C) Nucleic acids
(D) Bacteria

Blue green algae can be upto

(A) 10 pm long

(B) 50 um long

(C) 25 um long

(D) 500 pm long

Red stripe disease is associated with this
crop :

(A) Tobacco
(C) Citrus

(B) Tomato
(D) Sugarcane

This is true about phospholipids

(A) Amphipathic

(B) Are not present in all
membranes

11.

12.

13.

14.

15.

16.

17.

18.

Where a protein may be present in
biomembranes ?

(A) Extracellular side

(B) Intracellular side

(C) Interior

(D) All of these

One of their function is to package the
material

(A) Golgi

(B) Lysosome

(C) Endoplasmic reticulum

(D) Nucleus

These vacuoles store nutrients
(A) Sap (B) Contractile
(C) Food (D) Air '

These take part in Photorespiration
(A) Sphaerosomes

(B) Glyoxysomes

(C) Peroxisomes

(D) Ribosomes

This metal ion is generally required for
enzymes utilizing ATP

(A) Cu™ (B) K*

(©) Mg™ (D) Na*

This consists of mostly linear strands :
(A) Starch (B) Glycogen
(C) Cellulose (D) Fibrin

A protein has
(A) H-bonds . (B) Ionic bonds
(C) Peptide bonds (D) All of these

This amino acid is often Involved in
forming intrachain bonds

(A) Ala (B) Cys

(C) Asp (D) Met

The double helix of DNA consists of
(A) Phosphodiester bonds

(B) Stacking of bases

(C) Base pairing

N\ (D) All of these

\ Pepsin has optimum pH around
(A) 7 (B) 5
D) 9
B1MB6
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.

2. TN Rgdiexu & o smers T e :

(A) BRI auierad fagm
(B) 3 fafer quferas fasm
(C) Saam
(D) sfeedravia fasH

3.  ge 9ifire Sciras uicd 31U fadT § YT Bl
®:
(A) PrRfRla (B) go™
(C) verdA (D) DNA

4.  TM FOTE AR H BRG] ARV B
WAl B AT E &
qA) 2 (B) 3 (C) 8

L st L
(A) IgA (B) IgG (C) IgD (D) IgE

(D) 6

6. URFEE
(A) TIPS (B) A
(C) feamara (D) il

7.  a-aRadaaaiaed &
(A) 10 um T &
(B) 50 pum aHE
(C) 25 um &
(D) 500 um T &d

8. AU S BAABIRNIE :

(A) dap (B) eRR
(C) Rgw (D) =

9. wrepfiREiBaRE TEaE
(A) SHTHE

(B) it SHagea e d FE 8

(C) <20% Shaga der ¥

(D) > 80% Nage den#
BIMB6

12.

13.

14.

15.

16.

i 48

18.

Hageg el 3§ Wi el IR 9 & ?

(A) dr B feem

(B) st faem

C) I}

(D) FERE

D1 IS B 50 B HIE BRATE ©
(A) et

(B) e :

(C) 3 vt sferst

(D) &=d

Ig vy @ yeril BT HeRu FRdl B :
(A) 9 (B) dgpuefia
(C) wsH (D) Iy

YE YHTI-IaT H AT A &

(A) JOHR B (B) TSR
(C) wRaiTafram (D) RECINIL|
I8 uTg IE qea: ATP & aw fean &
T TTTEHY & foFY STaTIE BT S :

(&) Ca"’ (B) K*

(€) Mg" (D) Na'

T TR Y oo & GBI
(A) 5= (B) TengdIoH
(C) Heger (D) W=
THNEHHE & ;

(A) H-d4 (B) smafiday
(C) Temsay (D) zEwH
& T 37 SRR Al RISl 98 TS :
(A) Ala (B) Cys .
(C) Asp (D) Met
DNA B gedi gecitsi &

(A) BREHISIEURRR IY

(B)" &RIHTagIaFT

(C) arRiHIY™ I

(D) TEad

Ut &1 et pH e &

(A) 7 : (B) 5

©) 2 o
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20.

2l

22.

24.

25.

26.

27.

28.

The fastest enzyme is
(A) Amylase

(B) Carbonic anhydrase
(C) Lysozyme

(D) Rennin

Sulpha
inhibitors
(A) in folic acid synthesis in bacteria
(B) in folic acid synthesis in viruses
(C) for succinate dehydrogenase

(D) for glucose-6-phosphate

drugs act as

Hormones can be

(A) Proteins

(B) Steroids

(C) Amino acid derivatives
(D) All of these

In this female has a pair of XX
chromosomes
(A) Drosophila
(C) Bulbul

Which disease has failure of CI
transport mechanism ?

(A) Colour-blindness

(B) Huntington’s

(C) Phenylketonurea

(D) Cystic fibrosis

(B) Butterfly
(D) Peafowl

In Hb’, Val is substituted by
(A) Asp (B) Glu
(©) Tyr (D) Gly

In Alzheimer disease, the aggregation of
this happens

(A) Phospholipids

(B) Haemoglobin

(C) Amyloid B-peptide

(D) Nucleic acids

Who discovered that [A] + [G] = [T] +
[€C]?

(A) Chargaff
(C) Crick

(B) Watson
(D) Stahl

Beadle and Tatum used M.
mutants to  establish bios

pathway for
(A) Tryptophan  (B) Ornithi
(C) Arginine (D) Lysine

SN

23N
2N

) B

32.

33.

34.

3s.

36.

37.

(B) L
() M (D) N

©) Homogeﬁiisic acid
(D) Chlorogenic acid

UUU codes for :
(A) Alanine
(C) Tyrosine

(B) Phenylalanine
(D) Glycine

Dolly is the name of well known
(A) Cloned sheep (B) Vector
(C) Gene (D) Virus

Halophyte plants are found in
(A) Sand

(B) Saline environments

(C) Rocks

(D) Dry conditions

This has tuberous root

(A) Turnip (B) Beat

(C) Carrot (D) Mirabilis

In this, aerial roots absorb moisture frorﬁ
the air :

(A) Cuscutta (B) Orobanche
(C) Vanda (D) Heritiera
Ginger is :

(A) Stem (B) Root

“(C) Fruit (D) Bulb

This is not an example of aerial
modification of stem

(A) Corm
(B) Tendril

(C) Thorn

(D) Phylloclade

(B) Saraca
(D) Croton

@collegedunias
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20.

21.

22.

23.

24,

25.

26.

217.

28.

. & YoTTEH Ha s gai ®

(C) goigd
P HIERUCI S IRTET F TRTISATIE ?

(A) THEAS
(B) FEAD RS
(C) arNTEH :

- (D) =

o1 JAraferat afevaeft Wewd o1 B Rl &
(A) St # Bifers svd & Feeo H
(B) fammopait 3 wiferds et & HTwor A
(C) wwriFe feesirs & fog.

(D) T@I 6-Hrahe & forg

B B 9 &

(A) W= (B) fexrms

(C) sefMaraa=1(D) FEah

SO AIETH XX [UREAT 61 g femm 8l s -
(A) srftsar (B) - et
(D) 7[R

(A) qurierar

(B) &fEmes.

(C) wFe@eFgRa
(D) Y wRaIRE

Hb*® # Val & oive g wferenfia s e :
(A) Asp (B) Glu
(C) Tyr (D) Gly

TSI T8 I8 SHGIEI I & :
(A) wrpIfafts

(B) #mraifm

(C) tfidias B-UeEs

(D) e s

A yar e i [A] + [G] = [T] + [C] ?
(A) IRIH (B) dicw+

©) e (D) w®'Ed A -

e 3R TeA A Y. HRT F SARIDI B

FERAT Y 396 ﬁa-ﬁsﬁwm?ﬁmaﬂ :
(A) s (B) aiifei
(C) anfSei= (D) wrRfE

BIMB6

¥

30.

31.

32.

33.

34.

35.

36.

fedfra w@sy 4, t-RNA 39 3R &I 5411

v Tt
(A) agumif (B) L
<€) M (D) N
T AT H I8 A A Scaford e e :
(A) gRa
(B) var=
(C) Bmrifeli®s s
(D) TR 3
UUU a1 $e s :
(A) varE (B) fhmavar=
(C) <RRMA (D) TarR=
el M & U uRiE
(A) FAFAEEAS (B) TS
(C) = (D) faum
FAIPTEE IIGY IR WK &
(A) T
(B) <aufty smarai#
(C) wgmIH
(D) g uRfRARETH
TP MOCR TS BN &
(A) e (B) TR
(C) TSR (D) fafafera
T gAY TS 84T ITSAT BT AT FHA
5 A -
(A) mFRae (B) 3iRW@=H!
(C) dvsr, (D) #RRm
IERP & TP
(A) ¥ (B) v
(C) wa (D) wIchdg
TE I & IR HUIIROT BT SRRV TR & ©
(A) =Thg (B) waH
(C) #c& (D) witvga
g arfreer emrag &
/(A) @ (B) 3l
(C) HognRen (D) ®eH
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39

40.

41.

42.

43.

44.
45.
46.

47.

48.

49.

It is an example of pinnate t

of the leaf blade
(A) Cosmos (B) Cagtes (
(C) Tapioca (D) Ser al{;

This shows compound inflorescénceqe™ 7
(A) Sunflower (B) Zinnia T~ ____-
(C) Marigold (D) Neem

How many types of corolla are there in
petals ?
(A) 5
<) 7

(B) 10
(D) 8

It is an example of composite fruit
(A) Pineapple (B) Calotropis
(C) Larkspur (D) Cus_tard apple

In this the edible part is juicy placental
hair

(A) Apple
(C) Coconut

(B) Orange
(D) Fig

In this, seeds do not have hair
(A) Calatropis (B) Drumstick
(C) Alstonia (D) Cotton

This has glanular hair

(A) Tobacco (B)" Lemon

(C) Agave (D) Yucca

This does not show mermicophily

(A) Onion (B) Guava

(C) Mango (D) Litchi

This uses mimicry as a defense
mechanism

(A) Datepalm
(C) Opunita

(B) Caladium
(D) Jatropha

In the floral formula, @ stands for
(A) Actinomorphic

(B) Superior ovary

(C) Bisexual

(D) Zygomorphic

Ibris amara is useful for
(A) Cough

(B) Liver complaints
(C) Fever

(D) Rheumatism

52.

53.

54.

~ -

56.

57.

(A) Cellulose

Onion belongs to the family
(A) Solanaceae (B) Liliaceae
(C) Asteraceac - (D) Brassicaceae

The activity of sieve tube is controlled
by nucleus of

(A) Companion cells
(B) Bast fibres

(C) Phloem parenchyma
(D) Xylem vessels

Casparian strips of cortex are made of
(B) Chitin

(C) Alginate (D) Suberin

In earthworm, gizzard is present on these
segments of alimentary canal

(A) 8!h i 9!h (B) lolh i 12th
(C) 4lh Ev Slh (D) lslh s 16ﬂ|

The symplast comprises the network of
cytoplasm of cells interconnected by

(A) Plasmodesmata

(B) Endoplasmic reticulum
(C) Suberin

(D) Vacuoles

Above this minimum vertical distance,
the gravity potential is not negligible

(A) Im (B) 5m
(C) 10m (D) 20 m

Imbibition involves

(A) Solute potential

(B) Gravity potential

(C) Matrix potential

(D) Pressure potential

The major solute taken in by the guard
cells is
(A) Na* (B) Ca™

(D) Mg

lants, micronutrients are those which
needed less than or equal to the

B) 0.1¢g
(D) 1pg

@collegedunias



39, =& qﬁm‘l F b ¥ fewR

BRI F13eE s

(A) ®aN (B) 3RS

(C) wwmEn (D) d5a
40. I8 P YU SR :

(A) ot (B) Sffran

(C) e (D) =
41. TAYA ¥ e TR & Terasmh TR 9 & 2

(A) § (B) 10 (G- 7 (D) 8
42. B S GARNT BA BTSSERVIE :

(A) =T (B) #ER

(C) aHER (D) THT
43. 39U WRIMFIREER SIS RARE S

(A) Q9 (B) =reft

(C) Rae (D) aicfiR
44. TS SIRIGER TEI B ¢

(A) 3TH (B) W&o

(C) vfom (D) U™
45, T IRYMERE:

(A) TETg (B) fig

(C) <mHam (D) gamn
46, T frhfmm i gear:

(A) @ (B) amvg

(C) 3™ (D) oY
47. T8 IFHR GBI RTHS fopanfafey s e &:

(A) &R (B) wafsam

(C) =TT (D) SIgIeT
48. YERFH @ TWkIR

(A) TRFAETGS

(B) Sedqdisier

(C) fafem

(D) vHARREET
49. TN zaP eRTMERIFE

(A) @it (B) 3pa

(C) sk (D) wfean
B1MB6

52.

53‘

54.

58,

56.

57.

(B) aReR
(®)] ‘ﬁ'qu‘ﬁﬁﬁ (D) s afesN
Wﬁﬁﬁuﬂ%ﬁm%
(A) Wogeirst (B) ®red™
(C) vafFe (D) HaRa
Fgq A Ui 9uoll SiER e & 39 @Sl | at
g: :
(A) 84— 9ai (B) 10di - 124t
(C) 4m- 54t (D) 154t - 164t
Jacid T4 PIRGT Sl & 9T BT 3P §RT
3 Hafra s aATBIaTS
(A) SHagada
(B) 3ia: ysedt snferdT
(C) gaRa
(D) Rfaasr
T4 YATH I T & HW oAyl fava
g FE Bl :
(A) 1m (B) 5m
(C) 10m (D) 20m
3idl: A9V BT HRUTE
(A) faafawe
(B) Ayl fawg
(C) #fgw fava
(D) s@fda -
ER SIREGII gR1 9T {6y o ara faeri §
AT
(A) Na' (B) Ca”
(€) K (D) Mg™
| % ee aeal B AnaTad T R 7
) SR 2, 1A 7™ I uTRi & forg
A) 0.1 mg (B) 0.1g
(C) 0.1pg (D) 1pg

Qcollegedunias
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59,

61.

62.

65.

67‘ .

(A) Water
(C) Soil

Nitrogenase contains these two
(A) Mo, Fe (B) Fe,Cu
(C) Cu,Mo (D) Ca,Cu

Which is not true about

photophosphorylation ?

(A) O, is not released.

(B) Photolysis of H,O does not take
place.

(C). No NADPH is produced.

(D) Only Pgg is involved.

cyclic

In humans, the number of premolar teeth
is

(A) 2
©) 4

(B) 3
By 6

How many pairs of salivary glands are
there in humans ?

A 1 (B) 2

© 3 (D) 4

Gastric juice contains

(A) Lysozyme (B) Amylase'
(C) Trypsin (D) Pepsinogen
Kwashiorkor caused due to deﬁcieﬁcy of
(A) lodine (B) Fe

(C) Protein (D) B,
Meﬁadione is

(A) Vit.C (B) Vit.D

(C) Vit.K (D) Vit. A
These produce antibodies

(A) Neutrophil
(C) Lymphocyte

(B) Basophil
(D) Eosinophil

Instead of excreting, these can store4 '
in tissues /
(A) Birds

(C) Elephants

(B) Fish f
(D) Camel ¥

7.

iy

73.

74.

75.

76.

77.

Uremia is
(A) Excess urine formation
(B) Presence of excess urea in urine

¥ (C) Presence of excess uric acid in

urine
(D) Presence of blood cells in the urine

This is not true about white muscle (as
compared to red muscle)

(A) more blood capillaries

(B) less blood capillaries

(C) less number of mitochondria

(D) more sarcoplasmic reticulum

In humans, the number of bones in each
arm 1is

(A) 30 (D) 60

In humans, the brain reaches its adult
size at about

(A) 1 year (B) 2 years

(C) 4 years (D) 6 years

This hormone is a catecholamine
(A) Oxytocin (B) Adrenaline
(C) Vasopressin (D) Prolactin

(B) 20 (C) 10

This employs sexual reproduction
(A) Amoeba (B) Euglena
(C) Plasmodium (D) Sycon

In Autotomy, regeneration of this limb
takes place

(A) Eye (B) Liver

(C) Bone (D) Tail

Water potential in soil is quantified in
terms of

- (A) Pressure

(B) Volume ;
(C) Molar concentration
(D) Molal concentration

Sucker fish and shark show

(A) Mutualism

(B). Commensalism

(C) Competition

(D) Parasitism

Water above this dissolved O, content
Wiay be considered uncontaminated

“ (B) 0.008 mgL"
(D) 8pgL”

Qcollegedunias



EIGIEE
(A) w& (B) W@ da’
©) 3= (D) O,
60. TEEIRASH ARG ERNE
(A) Mo, Fe (B) Fe, Cu
(C) Cu, Mo (D) Ca,Cu
61. TP UPNI-BIRBRIZAYE & favg § I8 9
TEE:
(A) O, Sﬁ’ﬂ'ﬁﬂﬁﬁd’fl :
(B) uareig 9e qee Tl g¥av |
(C) NADPH 3@ &l 811
(D) &Tc Pegp BTPH BRATE |
62. W H, IUFAUIE T DI AT BRI &
A) 2. ..B)3.- €4 @®.6
63. A= ¥ e gfina R wferiT e & 2
A) 1 AB)2- (C). 3 (D)4
64, TRWHBETR
© (A) ISR (B) v
() feudm (D) Yo
65. TR 3HB! HHI B FRUTBATE :
(A) IREH (B) Fe
(C) wd= (D) By,
66. WAfsaME ;
(A) faefmC (B) faeifmD
(C) =™K (D) fefmA
67. e ufafte)w1Sce Fdl g
(A) Rfteer (B) swifhar
(C) fermprare (D) wehfifha
6. St o g e
qHA &
(A) ueh (B) #oeh
(C) =rit (D) e
B1MB6

71.
72.
73.
74.
75.

76.

77.

(C) 734 gR® 37 3} sfdrapa

(D) ¥ % 7 Premeit o SufRafa

¥3q AR & IR ¥ I8 9 7E B (e 9
PIgeH)

(A) 3 v Sl

(B) %9 vad b

(C) FaFBRBN

(D) e efigea shfera

I A JAS ol A 3R 3 G el &
(A) 30 (B) 20 (C) 10 (D) 60
I H AT 30 Ul PR W 39 () A
Wﬁ?ﬁﬂm%:
(A) 1ad
(C) 49

TB B U hepIuHH & :
(A) IFRRA . (B) AR
(C) AR (D) R

TEAMP I E
(A) arflar
(C) wreHIfeTH

WSS # 39 3T T JTogHaT 81 SIS :
(A) sitE (B) apd

(C) (D) I

7314 et {49 39 U 3 yamfigd fban smar e:
(A) TE@ (B) 3maaa

(C) #eR¥rsal (D) wAree arsan

YU TS FAT IH A &
(A) wemsRar  (B) wesifom
(C) wfvafirar (D) wesfifaar

%mg?ﬂﬁoz P AT Y SR

(B) 274
(D) 6%

(B) greim
(D) WEHF

(B) 0.008 mg L™
(D) 8pgL
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79;

80.

81.

82.

83.

8s.

86.

87.

- 88.

89.

" (B) Shrubs

According to Susruta Sambhit
consisted of
(A) Flowering plants

(C) Osadhi
(D) Jangama &

Who laid the foundation of Palaeontology ?

(A) Linnaeus
(C) Cuvier

(B) Aristotle
(D) Lapmarck

About 98% of mass of living organisms
is made up of just six elements. This one
is not among those :
(A) P
(C) Cl

B) S
(D) H

What is “Milk Sugar™ ?

(A) Glucose
(C) Sucrose .

(B) Cellulose
(D) Lactose

Which is the alcohol present in fats ?
(A) Glycerol -(B) Butanol
(C) Ethanol (D) Octanol

What is not true for enzymes ?

(A) Enzymes have substrates.

(B) All enzymes are allosteric.

(C) Enzymes are catalyst.

(D) Enzymes may have an inhibitor.

Animal membranes contain
(A) Steroids (B) Chlorophyll
(C) Prostaglandins (D) Vit. A

This is an example of a transporter
protein :

(A) Actin
(C) Insulin

(B) Ig
(D) Haemoglobin

Who gave a theory which is known as
primary abiogenesis ? .

(A) Oparin (B) Haldane

(C) Miller (D) Urey

This period belonged to Paleozoic era :
(A) Triassic (B) Cambrian
(C) Jurassic (D) Permian

Which one was the first

evolved ? :
(A) Jawless fish
(C) Frog

>
(B) Mon

92.
93;
- 94,

95.

96.

9K

98.

99,

This has not been produced by selective
breeding from a wild mustard :

(A) Broccoli (B) Cauliflower
(C) Cabbage (D) Carrot

For *Dog’, “Canis” refers to its
(A) Genera (B) Family
(C) Order (D) Class

This is not a moneran
(A) Spirulina (B) Nostac
(C) Oscillatoria (D) Euglina

This belongs to the phylum cnidaria :
(A) Seaanemone (B) Sycon
(C) Chalina (D) Amoeba

Pearl oyster is v
(A) Pila (B) Achatina
(C) Sepia (D) Pinctada

The adult specie of this phylum are
radially symmetrical :

(A) Eichinodermata

(B) Mollusca

(C) Annelida

(D) Cnidaria

In vertebrates, notochord becomes the
following in adults :

(A) Tail

(B) Vertebral column

(C) Heart

(D) Pharynx

This is not true of Sharks :

(A) They may be as long as 12 m.

(B) They are viviparous.

(C) They have swim bladder.

(D) Their liver is rich source of Vit. A.

This is not a fish :
(A) Dog fish

(C) Star fish
“Grey Air” refers to
(A) Incomplete Smog formation
(B) NO, :
(C) .CO

(D) SO,

(B) Saw fish
(D) 4F]ying fish

N The conjugation of antibodies with
W following is useful in fluorescence
. @ microscopy :

" ¥ (A) Metal ions

(B) Dyes
(C) Carbohydrates (D) Lipids
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79. @ fRar s sFRR freur # wfie & Gf B0, \zz v 7wl & Fe o g
(A) gefturEy (B) wfeai f % .
(C) ity (D) <M ) EICaG] (B) et

80. fHa Sharea-fasm & =1 &) =g T

(A) forfam ®) w° g NI Yk
(©) TR (D) =1 @A 9@ B 3 (C) ™ (D)
81. e SHAuR & TR BT 98% HIT et 6 Tl 92,  uEARRTO ¥ waRald T
BIFATE | I8 ITH A T8l & ’ (A) TRHATS (B) <@
AP B)S (O CL - H (C) sifeeiRar (D) e
82. GUUAIRT FIE? 93. WwEARSRAITHBIATR :
(A) T (B) eyt (A) SR (B) WEe
(C) g&r (D) dFE™ (C) AfeFm -~ (D) anfian
83. oI P AT IcHIEe SUFRIT BTS2 04, TR
(Al (A) e (B) W
(€) (D) smaesiet (©) iftran (D) figeer
84, TSR F ARA TN AT & 7 05, gwvie o qe o srdva R e E
(A) TR F PR BN & | (A) TEAETer  (B) wew
(B) wmmm%l - (©) e (D) W@ﬁm
(C) TNIRRISSRGEME |
(D) WWWW?IW%I 96.  FHUTIBAN A JeRTY] TUD! A I IR &
: (A T (B) s
85. g fifeid grard : el i
- (A) ¥RES (B) weiRifthet - . :
(©) iR D) RefrA 97. YEUHI HIRH T AEIE : :
- (A) & 12m o N uRft SR € |
86. UE TP GARS U BT ISRV & © . (B) wESREWERE
(A) LEE| (B) Ig ©) ﬁﬁwﬁm%|
(©) g (D) #Hrverifa (D) 7% T RefF AS T e s |
87. fa anfe arfiar s fagia wefaa foan 2 98. UEHBUITEIE: :
(A) iR (B) ®esH : (A) FanHweh (B) IRTHAGH
(C) fer a4 (C) arRIHA (D) SeAwwH
88. UETHIA RN TEHANE : 99. “WRIY FABEAE :
(A) swEeRi® (B) %fEm= (A) siga-®ET  (B) NO,
(C) R (D) uffga {08 (D) SO,
89. v U Berew! & wdue R - BooN\ st w1 et & S R
FIARANE 2 : 8 thﬁﬁmw%
(A) SEerRH#TH  (B) “(A) urgaRE (B) @
(C) #ed (D) e
B1IMB6
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2. Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

m-m%uﬁ-l%ﬁﬁ‘zwﬁwﬁaw/m RS / Wr-gfee w1 HE A H IW-TIE |
FRG-H W ® R | TR & NER GE i Sy N

fad ielt / wreht @i @Ez 9T @ o | |
Example : If Roll No. is 179682 T 4 )tu (Buestion Booklet No. is 14390, then
TR I 7 T 179682 & ' qfeTeT @@ 14390 €, @

L1 749886:1:8 1.2 114131910
®IO0OIOIO|IO ®OI0I0|0
0|10|10|0|0|@ ®10|0|0|0
(O} (O] [O] KO} {OR O] P|I0|0|0|®
(O} (O} LOR (O} [OR (O] Pe0|0|0
®|10|0|60|0|6 ®|OI6|0|6
©Ie|I0|e|0|6 @O|e|0|6
0|10|0|0|0|0 Q|10|0|0]|0
(O (O[O ORK 2{O)] BIOI®|®|®
O|I0|0|0|0|0 PO|0|e|®
OIO|I0|0|0|O ©OIO|I0|0|®

(C) Process for Filling up OMR Answer-Sheet (397-usa ure-11 =t st & whiean)

1. The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

W Sg-faeeT TER % € | TeE e & forg e R e SRt F @ Saer v & walfus suge € | ot v
T & el SugE faeeq % 9ma & gt et ® el / Hiet aiet @ 97 @ @ T e |l e 3eiear
et i dfee ¥ T & T 39S ITR-T9% Sl T H €G1 AT |

Example : If correct answer for question no. 7 is the choice ‘B’, then darken the circle in front of question no. 7 as
shown below :

TR ;9 e S 7 3 e freed B W S, a’rmm7%am&%mﬁuarﬁﬁaﬁ#mnﬁm
TR

QNol @®® © ©
QN2 @®® © 0

]

Q.No.7 ®@® O

Continued on the back cover page.

(u] 15 (18 F o T8 W 3G 1)
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(c) Only one circle corresponding to the correct answer should be darkened as shown below :

() WE ST} T HaeT T & Mt B g (5T ST et ferar o g

Incorrect / et @‘.@ o @O0 o @@@@
Incorrect/ T B @ WK © :r' g § e 0@ - OWEO

appropriate cxrcle using Blue/Black balPpoimeePen as no changc in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer-sheet is not permissible as the answer—sheets are machine
gradable and it may lead to wrong evaluation.

(®). g M i et / Bt T SEE FoH ¥ TH F Uget et g7 R/ awE GiHved w o A I & fog
waifyes Wt et S 77 W@ &, FiiH M B T F B e S oo € | FWEHH A R MA B TRETT s
T 79 ¥ faem =it arpafa @t < it 8, il STR-uae @t weie gRT gedited R ST # SR ter s W
i § I8 gt ¥ |

(e) Ifmore than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
manner or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

(®) ok w7 Al et Bt Aelt / FHielt St STES Herd | T TR A IR FHE 3T THR | 9T IR HEE
T Aol | e oA ST, a 3@ Tere s fear SR o

3. Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only
be used for this purpose.

ﬁm’imﬂmmmquﬁm% | § G- Wﬁwm@aﬁmw&mw% I W e
T HE |

4. “Bar Code” printed on the Answer Sheet must not be tampered or in any way marked; otherwise the candidature
will be rejected.
IS W oY “aw He” W et T & o anfe 7 599 a1 @ vt awe =1 s st il 1 v 89 € o
TR H IRAART |E HX S AR |

5. Candidate must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR
Answer Sheet as this may lead to disqualification.

II-Th & UR-] & i 39 W wa mmw%«?mwm#mmwﬁ%mwmﬁm
AT HA Y T Fehed € |
6.  For verification of your handwriting, it is necessary to write the prescribed Text completely which is printed on the

back side of the Part-I of OMR answer-sheet and also put your signature on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

TR IR, ITW-99% & -] HF IS H mmﬁmmmﬁ@m@mmwm
st wrem siaiht e T Y | ettt it 3 o g et & | e T w0 o e SeR-w / SefeErd
i QT T g = |

ARp"
7. In case you do not follow the instructiogf 'w(yven on thazpalkside of OMR answer-sheet, your answer-sheet is

liable to be rejected for which you yourgelfwill be fully resp sib %
j =t fera, it ayraenT SeR-vae GE AT ST WA

B1MB6
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